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Sub CNGINEERING MATHEMATICS IV (REG) | Code T ISMAT41
Date  08/05/2017 " Duration 90 mins | Max Marks 50 | Sem IV Branch TCEAB
Question 1 is compulsory. Answer any SIX questioﬁs from t‘he’rest.’” o o " rMarr"rk‘é OBE ;

In a normal distribution 31% of the items are under 45 and 8% of the items are over ~ 08 4014 L3
L 64. Find the mean and standard deviation of the distribution, given F(0.5)=0.19, : '
F(1.4)=0.42 | [ S N
The number of telephone lines busy at an instant of time is a binomial variate with 4014
probability 0.1. If 10 lines are chosen at random, what is the probability that |

2. . . o 07 L3
a) no line is busy b) all lines are busy c) at least one line is busy ~, :
d) at most 2 lines are busy. [ S DR P
The probability that a newsreader commits no mistake in reading the news is %3 NI R L3

3.

Find the probability that, on a particular news broadcast, he commits
2) only 2 mistakes b) more than 3 mistakes c) at most 3 mistakes. IR NN S
o7 L4014 i L2

4. Derive the mean and variance of exponential distribution.

The pdf of a continuous random variate X is givenr by f(x) = kxz, O<x< 3andf(x;

5. =0 elsewhere. Find k. P(x>1),P(x <1),P(1 <x< 2).Also find the mean, variance | | ‘
and standard deviation of the distribution. ,
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Sub ENGINEERING MATHEMATICS 1V (REG) ~‘ Code 0
Date  08/05/2017 - Duration 90 mins  Max Marks 50 | Sem IV Branch

Question 1 is compulsory. Answer any SIX questions from the rest.

REGULAR

In a normal distribution 31% of the items are under 45 and 8% of the items are over | 08 L4014 L3
. 64. Find the mean and standard deviation of the distribution, given F(0.5)=0.19,
FI.4-042 I R
The number of telephone lines busy at an instant of time is a binomial variate with |
probability 0.1. If 10 lines are chosen at random, what is the probability that |

2. A . D 07 L
a) no line is busy b) all lines are busy ¢) at least one line is busy 1 i
d)atmost 2 linesare busy. [ I R
s : . . . .1/ = 07 4014 | L3
The probability that a newsreader commits no mistake in reading the news 1s g
> Pind the probability that, on a particular news broadcast, he commits |
a) only 2 mistakes b) more than 3 mistakes c) atmost 3mistakes. e
4 Derive the mean and variance of exponential distribution. VAR L )

The pdf of a continuous random variate x is given by f (x} - Jx?, O <x<3 and f(x) (1 BARETE | L3
5. =0 elsewhere. Find k. P(x> 1), P(x<1), P(1 <x< 2).Also find the mean, variance ' i
and standard deviation of the distribution. o o |
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(ii) P2(cos 8) = %(1+3 cos 26)

07

Derive series solution of Bessel’s differential 7equatiorn that leads to Bessel’s function 07 401.2
or Prove that J,,,(x)= 2~sinx and J_,,,(x)= ic;osx
S G ) S L. o : ;
. Derive Rodrigue’s formula 07 4012
T - T i
- Prove that (i) Jo(-x) = (-1)" J,(x) = J.u(x) and (ii) = [x” J, (x)]:x” J (%)
Show that (i) X* = 332 + x = — P, (x)=L P 1)+ P () - 4 P
| ow that (i) X" - 3x" +x gg 4(x)_77‘ » () + P (x) g 0 (%) 4012
- (ii) Py(cos 0) = (143 cos 26) . ‘
Derive series solution of Bessel’s differential equation that leads to Bessel’s function .
07 01.2
or Prove that J,,,(x)= -—%sinx and J_,,,(x)= ~2~cosx )
U T — m m - S ———
7. | Derive Rodrigue’s formula 07  401.2
8. | Prove that (i) Jo(-x) = (-1)" J(x) = J.u(x) and (ii) —5— [x" J, (x)]:x” g, (x) 07  401.2
o4 2, . _ 8 10 4
. Show that (i) x* — 3x* + x §§P4 (x)~—&-P2 (x)+Pl(x)~-5~P0 (x) 1012
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